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Constable Executive Male and Female in Delhi Police Examination 2023

Exam

Date 22/11/2023
@M 19:00 AM - 10:30 AM
Subject Const_ablg Executive Male and Female in Delhi Police
Examination 2023
Q1 IIPR & B R AR P xS fba auR fomar?
Ans 1. AT GIRS
X 2. Tl
X 3. 3gd Hord
X 4. 3feg el
Q2 AU GRI ISTTUT S Ad & 5T TSR &1 FA1d! yormett 3ra=rs 8 82
Ans X 1. URE § URE (First Past The Post)
X 2. fgacia Yot (Two Party System)
2 3. e UTf UMl (One Party System)
o 4. &Wm (Proportional Representation)
Q3 mﬁﬁwﬁ?%wmﬂ%ﬂuuﬂmwwwﬁm%wwmmaﬁiﬁﬁdéﬁ"ww%smq‘ﬁq
BT T |82
Ans X 1. GRTE!
X 2. 9igs QR
o 3. T T HfR
X 4. Fone g AR
Q4 I YR TP & T8 g7 Ft g™ o, K HU: URdead ok $UF | 39 dNgH & e wifta Arew st
REPR 2021 A g fovar mam)
Ans X 1. e Higar 3R 7EdT YA
o 2. SAEH $oR SR =TT WIS
< 3. 7fa1 F5 ok Tt R
X 4. 791 leR IR HHSH R
Q5 20037, g1 fAywor & I g1 ardl uget YRR Afgar i gt
Ans X 1. 3feH0N ¢dl 3 d
X 2. fyarr &t
X 3. YA ARI™E0
o 4. 99 AARTE
Q6 URHT WAl IITH & HIfAHRI IR & TR & SR OARPIYR & T Fo7ar AfoRee 31 g & Ta & HRUT 1908 F SiefiqR
HIFTRT BT USTETRI §31T1 I ARRRE BT A1 T 412
Ans 1 SO fFBIS
X 2. A foreq
X 3.9t gy
X 4.7SdE QA



https://t.me/RankiqSSC

WIWWapTe Ryt 7 SR st ik & s 3 87

Ans
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X 2. 3N Tty
X 3. 3rftar 3urd
o 4. feRur s

e

Q.8

Ans

R grTTaT fpa yRed g  2hifa &1 w1y 79 ¥ i v gewaguf @R 82
X 1. IRES

X 2. g<iTg

2 3. 3[H

o 4. TR

Q.9

Ans

2011 B} TRIVET & SR, TSI, R & T 99 fearil agg! § J uw 81
X 1. @

X 2. yfear

X 3.®red

o 4.

Q.10

Ans

Aarm™ T T uirs TGS o
X 1.91gd

X 2.fier

o 3. TEEd

X 4 gt

Q.11

Ans

e aar i d Aeaw d T 3R ITTHT e g 7
X 1.13,9
X 2.14,8
X 3.12,10

o 4157

Q.12

Ans

A Y ARTBIS GURT A HRA WK ififraw & SAFraw= BT Y TR ganm|
X 1.1909

< 2.1935
< 3.1858
o 4.1919

Q.13

Ans

TP STYY FAr=rT &1 31 AL 2026 T% F¢T frdm T 3 | Aior1 o o= B 18 A2
% 1.2015

& 2.2014
< 3.2012
X 4.2016

Q.14

Ans

i (FRarftat W= siftfam, 2002 g1 Fafafaa & @ $9-a1 sgRe yRdT Adfyus & wfdra fFar T 32
X 1. TG 55-A
X 2. 3¢ 31-A
o 3. 3T=C 21-A
X 4. 3¢ 25-A




Wit pse feffiosr ot < e g 3 farg e o watfire wawagel 82 'repﬁ

Ans g1 &y TiEd

. Your Personal Exams Guidl
25 2. gHAUHS A
X 3. sfgHsd

X 4. Hsd

Q.16 What was the primary outcome of the liberalisation and privatisation initiatives under the New Economic Policy (NEP) in
1991, followed by the Indian government?

Ans #5 1. Fiscal policy reforms
#5 2. Monetary policy reforms
5 3. Centralization
" 4. Globalisation

Q17  aradta ST IS o /a1 32
Ans X 1. §lgyd

X 2.3 4

X 3. egeud

o 4.3 g

Q.18 Has wex A fRua e 3ifw S FraferfEa # & frw wumoer et & s mar 82
Ans X 1. ZSI-f3feR (Indo-British)

o 2. E@Wﬁ?ﬁ (Indo-Saracenic)

X 3. 3381 U® (Indo-Greek)

X 4. 3SR (Indo-Sino)

Q.19 ﬁaﬁsﬁ(wckey Hart) % Tea¥ '@ §' (Planet Drum) ¥ g2 3R MR arge & w0 & Sra-t yfireT 3 Tday fay wfa
TeaH & forg It iem ardt ued afor wRdR Sftaer 19 2

Ans X 1. M ARMU (Phani Narayana)
X 2. U9 SN (S Ballesh)
< 3. S1. IWd% Ifd (Dr. Ramachandra Murthy)
o 4. € T f3A—SHRE (TH Vinayakram)

Q.20 fgfafad ® 9 afifeta ugrsy &1 RIS w0 | 9 fa=am g

a Genus —»Species—»Family—» Order—Class—Phylum—»Kingdom

b Genus —+Species—»Family-»Class -+ Order—Phylum-»Kingdom
C Species— Genus—+Family—=Order—+Class—Phylum—Kingdom

d Species—»Genus—»Family—»Order—»Phylum—» Class—»Kingdom

Genus = 41
Species = PG
Family = $d
Order = 70T
Class = @i
Phylum = 9
Kingdom = SIITd

Ans W 1.c
K 2.a
X 3.d
p )




VIV A AR siteifiie 2020 & T 1T & WG BT I SIH-T A2
Ans g1 48dl

X 2.35a0

X 3.38al

X 4.58a0
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Q22 fEfifEd & & -9 At Feda & siata 781 amar 872

Ans 1. Frafe-Heigd &l QRiEd B
X 2. a1 & g gt Fod $1 URT B Tl HETH SHERIT Bl AT 3R 7T Ure Bl
X 3. Tl WUt Bt GR&T BT
X 4. TG fORrEd B wew S iR WA el

Q.23  FGAAT & TG THE AR SAUTGDH &7 DI-T Y12
Ans X 1. 3N

X 2.3ar

X 3. fagmr R

o 4.3

Q.24 yom U=IfE (R semgTaTe WY Raea & wu & Y 51 Srar 8) &1 3941 sRor gR1 Spa § 3 S o, st
& aR! Bd A

Ans X 1.@Rdd
o 2. 9w
X 3. g¥aq
X 4. 3=N®

Q.25 €T & IUGH & U § Y& AT SUTG BT GRT ATH 1 52
Ans X 1. fFId o

2.3 3T
X 3. G AP IA1G
X 4. I W I

Q.26 T el & fbaa ¥ R Y o §2
Ans K17

X 2.5

X 3.6

49

Q.27 GNP at market price is measured as:
Ans /< 1. GNP at market price + subsidies

«” 2. GDP at market price + Net factor income from abroad
/< 3. NDP at factor cost + Net factor income from abroad

/< 4. GDP at market price — Depreciation

Q.28 Syt Tfig, e Y 3R et ¥ Prafifad § @ fre wRdty 7 | g€ g8 82
Ans X 1.5Y®

X 2. HYBa

o 3. TS

X 4. WRa-TeH




Ans

_NNVﬁ.ﬁeF%ﬁH'@aﬁzoﬁ P FTAUET § SRS B 0T & SR fraq U8 U e A2

& 1.29
X 2. 21
X 3.23
X 4.16
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Q.30

Ans

YR i Tu &1 e fare af gam ure
X 1.1928 1
X 2.1900 1
X 3.1920H
o 4.19277

Q.31

Ans

ITR-aférr TimRT, St e agys g s o1 e §, 6 &) wrsaidbs wifia udwh &t siear 87
2 1. IR SR Uy S|

& 2. T 3R HIAR quT aberrg

X 3. ISTg SR aftreTg

2 4. 3 3R ORI

Q.32
Ans

What is the study of coins called?
& 1. Almanac

" 2. Numismatics
5 3. Curator

& 4. Petroglyphs

Q.33

Ans

i fewe R foredt 7 U S UT B
X 1. 99 gaaR

X 2. guda Rig

X 3. 3d A

o 4. S diaw

Q.34

Ans

Higan afdiara § A¢ ST Ha1s fha-! i1 a1ee?

< 1.210m
X 2.215m
o 3.224m
X 4.243m

Q.35

Ans

TP Y IR P! HURI W 3704 ifrpad g & def & uRviia frar mar g, S F W B
X 1L.0S

X 2.210 A9

X 3.359@

& 4IRS

Q.36

Ans

fFrafafEa & 9§ oiH-91 @Fe §9R IRR # 99 TgR 9T H 82
X 1. BRI

& 2. i

X 3. PR

X 4. 3RA




Ans

Vg, BFE MIhiBh of the following statements is correct about membership in the World Trade Organization (WTO)?

" 1. India reduced trade restrictions due to obligations to WTO. ' r E p ﬁ

§ i i i Your Personal Exams Gui
5 2. It negotiates only bilateral trade agreements between countries.

£5 3. All the countries of the world are members of WTO.

5 4. It was established as a new organisation in 1991.

e

Q.38

Ans

3N 2Teg juggernaut Bt FART STATY A g3 ¢, oyt ard 3 fay &1 wwrar | fay wltrs ot sy wfer wef fRa 82
X 1. DA

X 2. YaR
X 3. ®ch

o 4. T8

Q.39
Ans

The kinetic energy of the constitute molecules of the matter is minimum for its:
5 1. liquid state

#5 2. plasma state
¥ 3. solid state
/5 4. gas state

Q.40

Ans

e frafefaa & 9 fea srve & fog ulrs 372
X 1. 91 3R s

X 2. AT R dfar

o 3. TIET SR Ht

X 4. Sy 3R B

Q.41

Ans

YR Ifaer § 1137 Mifere sdo g af s mar ur?
2 1.2000

o 2. 2002
X 3. 2001
X 4. 2003

Q.42

Ans

faeelt & goarl A S & § S e o1 Frafor fean, St et faee & 1w & St Siren 81 e & & S99 37 gR1 8
T T UT?

X 1. SeIUTg
X 2. FABETE
¢ 3. AA DI
X 4. 5%

Q.43

Ans

I AT UISUATSH 2019-25 F IR, 111 TG IS & $of SFHTG YsiiTd o0 & | St &7 ot ufeaiernsy it
iR frasit 82

X 1.17%
 2.24%
< 3.40%
X 4.37%

Q.44
Ans

Which is the first known instrument to measure the humidity of air or gas, built by Leonardo da Vinci around 1400?
& 1. Transmissometer

«" 2. Hygrometer
/< 3. Disdrometer

/< 4. Sling psychrometer




WV PEE TR & & vt ad  aTd F wRedta T i o) o # 7TE e
Ans 5 1.1889

o 2. 1885

25 3.1892

< 4.1880
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Q.46 IIHET &F S MBS Fal S A1Y AT AfgeTsit GRT FAT A qrern F1 TP T 70 ARR 71
Ans g 1 G

X 2. FHlcH
X 3. ORI
X 4. ToRE

Shfaa wfafafer w17 32
Ans X 1. AR (Dryopteris)
" 2. THIICH (Equisetum)
X 3.Tf$T<H (Adiantum)
X 4. grsded (Psilotum)

Q.47 3 U 3R fafae g, WHHITRIST (Sphenopsida), A MR TR * 3IYTS (horsetail)' & ATH I SHT SIT€T 8, BT THAA

Ministers in that zonal council.
Ans X 1. Member

& 2. Ex- officio Chairman
4" 3. Vice Chairman
/< 4. Chairman

Q.48 The Chief Minister of a State acts as of the concerned zonal council on rotation basis along with the other Chief

Q.49 Siq firemr Rig g & A g Wl # fAtuyar @A o [t &2
Ans X 1. Tydfeaw

o 2. TeH

X 3. URKieH

X 4. FRMAETST

Q50 g 21A Frafafea & @ few sfter & wafta 32
Ans X 1. GHMA T RIBR

o 2. & &1 IR
X 3. Yy DI a1 BT BR
X 4. a1 @1 HABR

Q1 fmfafee & 3 s9-a1 e & 718 gaa # vyaras g (?) 9 uforifa sme?
3,8, 18, 33, 53, 2, 108

Ans £51.55
o 2.78
X 3.53
X 4.39

Section : Reasoning
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Q.3 Select the option that is related to the third word in the same way as the second word is related to the first word. (The words
must be considered as meaningful English words and must NOT be related to each other based on the number of
letters/number of consonants/vowels in the word)

Brim: Edge:: Kind:?

Ans «" 1. Benevolent

& 2. Artificial
& 3. Cruel
& 4. lllusion

Q4 7Y REl & 39 T T 1 9= By, S+ R @) Hie v A ufainia #= 9@l @ iR i v witezu o1 dgfa s
HHar gl
15*3*24*12*2*5

Ans K x-S
2.4, %, - =+
K 34— %%, =

Wwa s - % =
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Ans

& guoT § fFa g8 gfafes aafaa Hifew
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Ans

FKkZ5LPy
M N
~-y91eSii
>ElS2TFbA
= E]S2TbA
v EKS2TbA
% Py g9 B 9 @ B U U 7 (2) 3 /A W 9 A
3l AT Tfee?
s vV|D NE V|0 B
| | |
T DV S|qg o|v s|D
X 1 SDE
X2 ,:\D:
X3 ,?\D:
@4ﬂq|:|¢n
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Ans

W
Lo L L
X1
N~ NN
e
M
PN
x 2.
w4
o,
D L N
x 3.
NN
L 5 B
o 4
R

Q.8 U fAfyd pe T H, ‘RADICAL’ F! ‘BBDEJMS’ & T4 # for@r wITar @ 3R ‘SUSPECT’ &Y ‘DFQTTUV’ & ¥ & forar wirar 81
I YTHT H VIRTUAL P S forar simem?

Ans 25 1.RIVTLAU
" 2. BIMSUVW
/25 3. LAUTRIV
25 4. WJSUVBM
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B
" MDD
2 IREMOO
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2 ODIMIS
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Q.10 I FPpey o1 997 B o § 78 enpfar siafifed 8 (oM $ ergafa 781 )1
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Pewd9Kr

N

“Tywob)eq
x29Q9wPen

v*1)lebwa9
x+INCpPpwaqg

Ans

Q.12 Seven students, A, B, C, D, E, F and G, are standing in a straight line facing north. D is standing to the immediate left of E
but to the immediate right of C. B is standing to the immediate right of A and to the immediate left of C. Similarly, F is
standing to the immediate left of G, who is standing at the extreme right end. Who is standing at the third position from the
left end?

Ans X 1.E
X 2D
& 3.C
X 4.B

Q.13 aﬁmﬁﬁﬁwuﬁwmwﬁgﬁ(wﬁwﬁgﬁ)mmﬁlwﬁgﬁaﬁm%ﬁqﬂaaﬁmw

D@

Ans X 1.3TR
X 2.0
X 3T
o 4.

Q.14 I fIPey &1 999 B3, S 3A&R) b I HH BT Ufaf~Ia Har g, o 1= 2w e faa == # e 0 3 918 3 i v@ oA
;?aﬂ'éar&nmws‘ramm

O_Q_N_PQMNO__
Ans X 1.PONPMOQP

« 2. OPNPMOPQ
X 3. OPPNMOQP
X 4. PONPOMPQ




1 MRS @ o R T o & AR MN W W@ s W & o P Fe P
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TMp5Dc
M N

Ans ’“lwd?DC
2] MbppC¢C

Qy4.lwbEDc

Q.16 a-?lé' ﬁ ﬁ'ﬁmﬁmga-gb?

Ans K 1.6
529
< 3.10
4.8

Q17 I fawe o1 999 X St urad] T= A I yHR Hafia § o ger gul den gt Wen @ wafta § ok At s diet
e & Hefia 7
45:405::20:80::85:?
Ans X 1.1270
X 2.1440
X 3.1255

o 4.1445




A 8|1 VALV, UlK 8
BULKALUSBBTLAQLTU| ?
1 Q| B K | K 8 |B A
Ans 5 T
v1|B K LQ
A U
8 A
x2|LT uUuQ
K B
B K
x3|U QLT
A 8
v K
x4+/U B L 8
A T

' Nm.meﬁﬂdﬁ@amffﬁﬁaﬁwmtmm@Wﬁfmumﬁ?mﬁmmmw'repﬁ-
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Ans

Q.20 g gyur &t ) fRE U for F SFER MN R @1 T @ <t fi e wae #1 gdur & fAffa wdt ufafss aafta i
M

Rd47cg

N
e xigol b4
v230\VAbA
xsgo\VhPHA
xegc7 hbA




(Fite: TfvTdg wfharsii & wemne # Iud ged siwl & fyuir fry famm gof Wensii w far s afkul
TfpaTg S fF 13 A FASAVISTHIATIN HAT 3fS Fae 13 T B o1 et 31 13 B 1 3R 3 T a1 3R fbw

wfepart w3 B srgHfa e )

(2,9, 3),(5, 23, 4)
Ans X 1.(12,37,4)

2. (10, 33, 3)
X 3.(11, 40, 4)
X 4.(13, 36, 3)

s Guidl

NNVm.E{eRﬁ;iﬁgaummaﬁﬁqum@ﬁmﬁaﬁmﬂ%%ﬁvwﬁqﬁﬁaw&ﬁﬁ@@%ﬁ
QFSO

Q.22 gfg A @13 '+ g, 'B' BT 3 'x' §, 'C* BT 3 - § 3R "D 1 3 ¢ B, ot Ffe@d giiewor # 2 & R wR @ s
(8B4A3)D7=33D11A?

Ans 51,9
X 25
3.2
X 47

Q.23 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if
it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

All students are teachers.
No teacher is the Principal.
Conclusions:

I. No principal is student.

Il. All teachers are students.

Ans " 1. Only conclusion | follows
#< 2. Both conclusions | and II follow
5% 3. Neither conclusion | nor Il follows

< 4. Only conclusion Il follows
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Ans

WiNViS PEERPRIRY 98t e iy Tie 31 Ridtar YT & i R

fofea forar wiTaT 81 PR ) Giaq W) 98 $91 fe@ e
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r/L’
O
O O
o O
s1.| ©
[
[VaPd
o RONe
OO0 0
X 2.
AN
FAWAN
OO0 0
Q
(@]
x 3.
P
O
o) O
o ©O
xa| ©
v

e

Q.1

Ans

[0.7 - {4.3 - 3.6 — (6.1 — 4.7 — 2.3)}] BT HIH Id HIfoC|

1. o
10

x2 |
10

o3 :
AR

X4 2
10

Section : Numerical Ability




_ WVGRI e PRAGTS: sarer ot i v 3 oY, R IR 3 9 6t arafir & 22,400 95 217 23,650.10 B wITelt 21

Ans

101304 'repﬁ

Your Personal Exams Gui

X< 2. 14%
+ 3. 15%
X4 12%

e

Q.3

Ans

1 RN A 3R B & i b1 gl 480 km €1 Teb BR A Y {TH] Ja 91T &l 2

e Y I F PRl & IR MR T 9 80 fFe <X ¥ B R ugadl g
HR Pl ARdD d1el JId BIY (km/h H) |

o 1.240

X 2.235

X 3.242

X 4.230

Q.4

Ans

T GHTGR A AU aegaii W 3% 9 oI A 65% P ged 3ifdra far 3R 35% @t ge & 3ad a1y &1 yfa=rd g1a
P

2 1.9.50%
X 2.8.65%
o 3.7.25%
< 4.10.25%

Q.5

Ans

G A T TS § Tx 3= P, it 12% &1 Re T 81 oid A I R «==1fr A 212,000 3¥re yred 819 &1 Te1 & S99
forat =1 (7 ) o= & 2

2 1. 112000
2 2. 120000
2< 3.80000

& 4. 100000

Q.6
Ans

3 TEmait BT ofTd 24 B SR i 3y Wemai o1 3N 29 31 571 Ul WSS BT 3T T 82
& 1.27

X 225

2 3.28

X 4.26

Q7

T 2001 ¥, TP PREM & IATGH A 30% I HH gt 81 A1, af 2002 # I A 25% #1 gG St 31 39 & auf & Iayreq #
gom ufvomdt ufkad= (qfes ar et @ 32

Ans o 1. 12.5% DI HHI
X 2.125% DI gfa
X 3.13.5% BI gf
X 4.13.5% DI HHI
Q.8 A 3R B 3@ @ fapeft Bl HHRT: 15 3R 20 3T & 1 H% TPa §1 TfY B, 1 3FgaR F1 BT RY HaT 8 MR I TpiaR fei A

Ans

HTd HYd 7, A I DI R & ST
7 1.19 IR

X 2. 14 IFER

o 3. 18 IR

7 4.9 TR




Ans

_ VVGRI EFBRN TR 3 3 9 & Riw Te Fifda ¥ W |TeRr sare W Fasr frar man afg 59 5%

3P R W A _
TR 2270 3if¥re saret uTed giar| o= &) 15 Ry foa A2

" 1.31,800 Your Personal Exams Guigle

X 2.%31,700
X 3.%1,500
X 4.%2,000

Q.10

Ans

How many metres of cloth, 6 m wide, will be required to make a conical tent, the
radius of whose base is 6 m and height is 8 m? (Assume there is no wastage of
material)

2

(Take 7 =)

4
X1 21—
317

1.
X 2 e
31?

X3 312
' 7

ve 312
iR

Q.11

Ans

I8 B! A DI G- -3 7, R 15, 30 3R 45 T AU w31 W Ul fRIfA A 8 Auwpd gaar 8?2
 1.98

X 2.83
X 3.113
X 4.94

Q.12
Ans

98 Y TST YATHD YUITH FTd BT ORI 216, 358 3R 454 B} YRT S W HHI: 9, 13 3R 17 AUGS U SR
X 1.27

X 2.17
& 3.23
X 4.29

Q.13

Ans

TP Wd § as®! 3R aSfHal F} WA BT 3T 6 : 5 31 TG 25% ASH 3N 36% ASIHAT BTG YRS &, 9l SEAGRI T U
arat faenfiat &1 wfa=ra g9 S

X 1. 80%
X 2. 50%
X 3. 60%
4. 70%

Q.14

Ans

Find the cost of painting a spherical ball of radius 14 cm at the rate of 210 per
cmz.(Use JE= 2?—2)

X 1.%24,250
X 2.%320,220°
o 3.324,640
X 4.322,350
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B 31T 3R I7P WY Pl 0T BT U T 22

Ans x 1 3:2 Your Personal Exams Guigle
X2 5:3

X3 1:2
w4 T7:5

Section : Computer Proficiency

Q.1  HEHINGIFE ATTPT WHId WY 2016 (Microsoft Office Professional Plus 2016) ® 3TU®! %1 Ad WSl (Start Mail Merge)
fFrafafeaa o @ frw @9 & siavla fram?

Ans X 1.3 (Insert)
X 2.8 (Home)
o 3. e (Mailings)
X 4. 3BT (References)

Q.2 Which of the following statements is correct about the row height of the cell in a spreadsheet in MS-Excel 2010?
Ans < 1. Upper and lower bounds for row heights are 509 and 0, respectively.

" 2. Upper and lower bounds for row heights are 409 and 0, respectively.
£ 3. Upper and lower bounds for row heights are 609 and 0, respectively.
< 4. Upper and lower bounds for row heights are 709 and 0, respectively.

Q.3 THUY-as 365 (MS-Word 365) H T SR BT ATPR T & fore fFraferfaa # @ fora P91 widepe 1 IuaT fHar srar 82
Ans X 1.Ctrl+<

K 2.Ctrl + +

o 3.Ctrl +]
K o4.Ctrl+2?

Q4  fFufafed A A 59 yoR & exe FAwRA A 3T gfRE ¥ e Shw arg= &1 Il far wrar 82
Ans X 1.§(8dS (Broadband)

¥ 2. 8194 3{U (Dial up)

X 3. YR (Satellite)

X 4. BTSSR 31 (Fibre optic)

Q.5 Which of the following is a secret string of characters used to verify the identity of a user during the authentication
process?

Ans #< 1. Domain name
¥ 2. Password
5 3. Username
25 4. Website

Q6 gagel-e Siskie § A T34 'c10' T g=ifar 32
Ans f1.?ﬁﬂi’$ﬁﬂﬁ?ﬂfﬁﬁ(row)ﬁ@ﬂ

X 2. TR Bl 3R IR A (row) B I

X 3.39d PIad R T A (row) & A

X 4. IRET DIaH AR T A (row) & A




Ans

_NNV\QWGRP;@TQ@E(MS Excel) ¥, Frafafaa & @ #1911 faweu, g WY (Column) 3R A U (Row) &1 T

o ’ Prepp|

Your Personal Exams Guidl
o 2.B3

X 3.A3
X 4.3A

Q.8

Ans

THUY T8 365 (MS Word 365) ¥, fAgferf@ad #f & #19-01 T§R@VI (alignment) 3TU& SHRE &1 WRTUTE F AT 3R S IR fHaRT 3
3 3MUP TR B T Ul P 1€ 3R g€ Aol a fazaria s

o 1 GF@'CFI'% (Justify)

X 2. e (Center)

X 3. U 3ARHE (Left alignment)
< 4. 303C JATSTHE (Right alignment)

Q.9

Ans

@q%a'é'aes (MS Word 365), T -1 @Tal Siagie Tieq & g fafafaa o @ g #1691 widee Foit (key) T SUaT faran
7T 82

S 1.Ctrl+0
o 2.Ctrl + N
3. Shift+ 0
X 4.Alt+0

Q.10

Ans

THTY T8 365 (MS Word 365) &1 IRIME winfe A fafafad d @ #i9-11 s Hisyg giar 82
X 1.3d (Save)

X 2. RN (Replace)
7< 3. BI$S (Find)
W 4. Wﬁﬁm (Line spacing)




